
INOX 200 LIFTERS & TOOLS
- DRAWINGS & MEASUREMENTS

2
3
4
5
6
7
8
9

ITEM NO.PART NUMBERDESCRIPTIONDefault/Q
TY.Revision

16210100534Drejeenhed m. 1 udgang12

220000268QuickClamp m.Flexarme type 111

381010230Skrue 6x50 CH A2 DIN 9124

40010219
40010219

QC6 REVISION

1:10

Impact

DRAWN BY: LL    DATE: 13.12.13

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH:DEBUR AND 
BREAK SHARP 
EDGES

NAMELOCATIONDATE

MATERIAL:

DO NOT SCALE DRAWINGVersion: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

Gratfri

WEIGHT: 39.22 Kg

A

B

C

D

E

F

G

H

12345678

A

B

C

D

E

F

G

12345

650  8
0 

 4
70

 

 5
67

 

 0 

 0 
 25 

L: 1228 / M: 1598 / H: 2028

 L: 1610 / M: 1980 / H: 2410 

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg5REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.10.21

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Stainless

Electropolished

WEIGHT: 65.74 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg6REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.04.07

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.44 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 136  266 

2
3
4
5
6
7
8
9

ITEM NO.PART NUMBERDESCRIPTIONQTY.Revision

130000908Lineær klemme komplet 2x150mm.12

230006750Arm klem/tip C 550 H11

330006752Arm klem/tip C 550 V11

481190036Oliebronzeleje 30x38x3041

581190093Trykleje ø30/ø47x11 Rustfri21

640001057Plastring for 8119009321

720000329Motordel tippefunktion11

840001046Akselstop moterside11

940001045Akselstop12

1081150016fjedrende trykstykke kugle ø811

1130006748Tip flex gearside 60x60 rør11

1230006749Tip flex løs side 60x60 rør11

1381020050Låsemøtrik M10 A2 DIN 9854
1481010000Bolt M10x80 A24
1581010276Skrue 8x16 RH A2 ISO 73801
1681010277Skrue 8x20 RH ISO 73801

30007080
30007080

Opstart EG8 REVISION

1:10

Impact

DRAWN BY: LL    DATE: 13.12.04

EG8 40010221

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH:DEBUR AND 
BREAK SHARP 
EDGES

NAMELOCATIONDATE

MATERIAL:

DO NOT SCALE DRAWINGVersion: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

Gratfri

WEIGHT: 51.08 Kg

A

B

C

D

E

F

G

H

12345678

A

B

C

D

E

F

G

12345



INOX 200 L/M/H Leg 1

INOX 200 L/M/H Leg 4

INOX 200 L/M/H3  

INOX 200 L/M/H Leg 2 

INOX 200 L/M/H Leg 5

INOX 200 L/M/H Leg 3

INOX 200 L/M/H Leg 6

3 MAST HEIGHTS AND 6 LEG/WHEEL OPTIONS

INOX 200

 650 

 8
3 

 4
70

 
 5

55
 

 0 
 28 

 1228 

 1610 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 650 

 8
0 

 4
70

 

 5
67

 

 0 

 0 
 25 

 1977 

 1595 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140205000000
140205000000

INOX 200M-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.14

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.26 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 8
3  850 

 5
55

 

 4
70

 

 1250 

 0 
 28 

 2028 

 2410 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010176 Legtype-INOX-850x470-80f 1 1

2 40010168 Mast INOX 200H Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140303000000
140303000000

INOX 200H-850x470-80fREVISION

1:20

Impact

DRAWN BY: LL    DATE: 14.03.06

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
SS

EP

WEIGHT: 77.41 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 800 

 8
3 

 8
90

 

 9
75

 

 0 
 28 

 1228 

 1610 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010179 Legtype-INOX-800-890-80f 1 1

2 40010166 Mast INOX 200L Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140106000000
140106000000

INOX 200L-800x890-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.04.07

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.44 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 500 

 8
3 

 4
70

 

 5
55

 

 0 
 28 

 1610 

 1228 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140401000000
140401000000

INOX 200L3-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.02

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 74.30 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 500 

 8
0 

 4
70

 

 5
67

 

 0 

 0 
 25 

 1595 

 1977 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010167 Mast INOX 200M Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140204000000
140204000000

INOX 200M-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.16

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.96 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140201000000
140201000000

INOX 200M-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.08.19

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.54 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5



INOX 200 L/M/H - Standard setup: Leg 1 (Standard assembly if nothing is specified)

INOX 200 L/M/H – Leg 2 

INOX 200

LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140201000000
140201000000

INOX 200M-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.08.19

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.54 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140201000000
140201000000

INOX 200M-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.08.19

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.54 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140201000000
140201000000

INOX 200M-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.08.19

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.54 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1610/M:1980/H:2410 

L:1228/M:1598/H:2028

28

500

47
0

55
0

899

83

0

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg2REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.02.03

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Stainless

ElectroPolisted

WEIGHT: 66.62 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg2REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.02.03

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Stainless

ElectroPolisted

WEIGHT: 66.62 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg2REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.02.03

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Stainless

ElectroPolisted

WEIGHT: 66.62 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1610/M:1980/H:2410 

L:1228/M:1598/H:2028

28
0

650

1050

47
0

55
0

83



INOX 200 L/M/H  – Leg 3

INOX 200 L/M/H  – Leg 4

INOX 200

LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010176 Legtype-INOX-850x470-80f 1 1

2 40010168 Mast INOX 200H Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140303000000
140303000000

INOX 200H-850x470-80fREVISION

1:20

Impact

DRAWN BY: LL    DATE: 14.03.06

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
SS

EP

WEIGHT: 77.41 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010176 Legtype-INOX-850x470-80f 1 1

2 40010168 Mast INOX 200H Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140303000000
140303000000

INOX 200H-850x470-80fREVISION

1:20

Impact

DRAWN BY: LL    DATE: 14.03.06

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
SS

EP

WEIGHT: 77.41 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010167 Mast INOX 200M Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140204000000
140204000000

INOX 200M-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.16

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.96 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010167 Mast INOX 200M Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140204000000
140204000000

INOX 200M-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.16

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.96 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010167 Mast INOX 200M Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140204000000
140204000000

INOX 200M-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.16

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 69.96 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1610/M:1980/H:2410 

L:1607/M:1977/H:2407 

L:1228/M:1598/H:2028

28

850

1250

47
0

83

55
0

0

L:1225/M:1595/H:2025

500

 899

80

45
3

56
7

25
0



INOX 200 L/M/H  – Leg 5

INOX 200

LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140205000000
140205000000

INOX 200M-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.14

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.26 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140205000000
140205000000

INOX 200M-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.14

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.26 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010167 Mast INOX 200M Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140205000000
140205000000

INOX 200M-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.14

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.26 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

25

650

1050

80

45
3

56
7

0

L:1225/M:1595/H:2025

INOX 200 L/M/H  – Leg 6

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg6REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.04.07

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.44 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

INOX 200 L/M/H leg6REVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.04.07

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 71.44 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

800

1199

28

89
0

97
5

0

83



LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

INOX 200 L3/M3/H3 - Standard setup: Leg 2 (Standard assembley if nothing is specified) 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

650

1049

83

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

47
0

55
0

28
0

INOX 200 FOR ELECTRIC TOOLS



INOX 200 L3/M3/H3  – Leg 1

LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140401000000
140401000000

INOX 200L3-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.02

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 74.30 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010174 Legtype-INOX-500x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140401000000
140401000000

INOX 200L3-500x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.07.02

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 74.30 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

INOX 200 L3/M3/H3  – Leg 2

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40010175 Legtype-INOX-650x470-80f 1 1

2 40010169 Mast INOX 200L3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140402000000
140402000000

INOX 200L3-650x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.20

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 75.60 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

500

 899

47
0

55
0

83

28
0

L:1225/M:1595/H:2025

650

1049

83

47
0

55
0

28
0

INOX 200 FOR ELECTRIC TOOLS



LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

INOX 200 L3/M3/H3  – Leg 3

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010176 Legtype-INOX-850x470-80f 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140503000000
140503000000

INOX 200M3-850x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.11.27

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 81.55 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010176 Legtype-INOX-850x470-80f 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140503000000
140503000000

INOX 200M3-850x470-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.11.27

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 81.55 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

850

1249

83

47
0

55
0

28
0

INOX 200 L3/M3/H3  – Leg 4

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010169 Mast INOX 200L3 Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140404000000
140404000000

INOX 200L3-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.19

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 74.72 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010169 Mast INOX 200L3 Komplet 1 1

2 40010177 Legtype-INOX-500x470-50ds 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140404000000
140404000000

INOX 200L3-500x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.05.19

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 74.72 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L: 1607/M: 1977/H: 2407 

L: 1225/M: 1595/H: 2025

500

 899

80

45
3

56
7

25
0

INOX 200 FOR ELECTRIC TOOLS



LIFTERS - DRAWINGS & MEASUREMENTS
- All measurements in mm

INOX 200 L3/M3/H3  – Leg 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140505000000
140505000000

INOX 200M3-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.13

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 80.23 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140505000000
140505000000

INOX 200M3-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.13

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 80.23 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

 0 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010178 Legtype-INOX-650x470-50ds 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140505000000
140505000000

INOX 200M3-650x470-50dsREVISION

1:20

INOX

DRAWN BY: LL    DATE: 14.01.13

 

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 80.23 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

650

1049

80

45
3

56
7

25
0

INOX 200 L3/M3/H3  – Leg 6

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010179 Legtype-INOX-800-890-80f 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140506000000
140506000000

INOX 200M3-800x890-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 15.01.15

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 84.68 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 40010179 Legtype-INOX-800-890-80f 1 1

2 40010170 Mast INOX 200M3 Komplet 1 1

3 81010139 Bolt M6x8 A4 ISO 4017 12

140506000000
140506000000

INOX 200M3-800x890-80fREVISION

1:20

INOX

DRAWN BY: LL    DATE: 15.01.15

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

EP

WEIGHT: 84.68 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

L:1607/M:1977/H:2407 

L:1225/M:1595/H:2025

800

1199

83

89
0

97
5

28
0

INOX 200 FOR ELECTRIC TOOLS



INOX 200 / TOOLS

PLATFORM STAINLESS – EP3
L x W: 500 x 400 mm

PLATFORM STAINLESS – EP4
L x W: 500 x 500 mm

PLATFORMS STAINLESS 
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006695 Ramme for 30006694 1 2
2 30006696 Plade for 30006694 1 2
3 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 11.52 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 2DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

EP3

DRAWN BY: LL    DATE: 13.06.05

INOX 200

1:5

REVISION Platform 500x400

30006694
30006694

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006695 Ramme for 30006694 1 2
2 30006696 Plade for 30006694 1 2
3 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 11.52 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 2DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

EP3

DRAWN BY: LL    DATE: 13.06.05

INOX 200

1:5

REVISION Platform 500x400

30006694
30006694

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006991 Ramme for 30006990 1 1
2 30006992 Plade for 30006990 1 1
3 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 13.39 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

EP4

DRAWN BY: LL    DATE: 13.11.07

INOX 200

1:5

REVISION Platform 500x500

30006990
30006990

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006991 Ramme for 30006990 1 1
2 30006992 Plade for 30006990 1 1
3 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 13.39 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

EP4

DRAWN BY: LL    DATE: 13.11.07

INOX 200

1:5

REVISION Platform 500x500

30006990
30006990

50
0

50
0

500

400



 INOX 200 / TOOLS

BOOM – D3
Ø x L: 60 x 500 mm

BOOMS
- All measurements in mm

BOOM – D4
Ø x L: 60 x 800 mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006684 Dorn ø60x500 Impact 200 svejst 1 1
2 40000513 Prop til dorn ø60 1 1
3 81010339 Skrue 3x8 UH A2 DIN 7991 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 2.06 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.05.27

Impact

1:5

REVISION Dorn ø60x500 Impact 200 komplet

30006685
30006685

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006684 Dorn ø60x500 Impact 200 svejst 1 1
2 40000513 Prop til dorn ø60 1 1
3 81010339 Skrue 3x8 UH A2 DIN 7991 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 2.06 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.05.27

Impact

1:5

REVISION Dorn ø60x500 Impact 200 komplet

30006685
30006685

2
3
4
5
6
7
8
9

ITEM NO. MATERIAL Description Draw.No DIMENSION LENGTH ANGLE1 ANGLE2 QTY.
1 1.4301 (X5CrNi18-10) Rect. bar 90x8 140 0.00 0.00 1
2 1.4301 (X5CrNi18-10) Tube Ø60,3x3,65 790 0.00 0.00 1
3 1.4301 (X5CrNi18-10) Round bar ø60 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 4.94 Kg

EL Poleres

1.4301 (X5CrNi18-10)
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

D4

DRAWN BY: LL    DATE: 13.12.06

Impact

1:10

REVISION Dorn ø60x800 Impact 200 svejst

40010215
40010215

2
3
4
5
6
7
8
9

ITEM NO. MATERIAL Description Draw.No DIMENSION LENGTH ANGLE1 ANGLE2 QTY.
1 1.4301 (X5CrNi18-10) Rect. bar 90x8 140 0.00 0.00 1
2 1.4301 (X5CrNi18-10) Tube Ø60,3x3,65 790 0.00 0.00 1
3 1.4301 (X5CrNi18-10) Round bar ø60 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 4.94 Kg

EL Poleres

1.4301 (X5CrNi18-10)
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

D4

DRAWN BY: LL    DATE: 13.12.06

Impact

1:10

REVISION Dorn ø60x800 Impact 200 svejst

40010215
40010215

2
3
4
5
6
7
8
9

ITEM NO. MATERIAL Description Draw.No DIMENSION LENGTH ANGLE1 ANGLE2 QTY.
1 1.4301 (X5CrNi18-10) Rect. bar 90x8 140 0.00 0.00 1
2 1.4301 (X5CrNi18-10) Tube Ø60,3x3,65 790 0.00 0.00 1
3 1.4301 (X5CrNi18-10) Round bar ø60 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 4.94 Kg

EL Poleres

1.4301 (X5CrNi18-10)
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

D4

DRAWN BY: LL    DATE: 13.12.06

Impact

1:10

REVISION Dorn ø60x800 Impact 200 svejst

40010215
40010215

2
3
4
5
6
7
8
9

ITEM NO. MATERIAL Description Draw.No DIMENSION LENGTH ANGLE1 ANGLE2 QTY.
1 1.4301 (X5CrNi18-10) Rect. bar 90x8 140 0.00 0.00 1
2 1.4301 (X5CrNi18-10) Tube Ø60,3x3,65 790 0.00 0.00 1
3 1.4301 (X5CrNi18-10) Round bar ø60 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 4.94 Kg

EL Poleres

1.4301 (X5CrNi18-10)
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

D4

DRAWN BY: LL    DATE: 13.12.06

Impact

1:10

REVISION Dorn ø60x800 Impact 200 svejst

40010215
40010215

500

Ø
 6

0

140
130

70

40

10
0

0 12 78 90

6 x Ø 8,5 THRU ALL

Ø 13

Ø
 6

0

800

8 x 45°

30



 INOX 200 / TOOLS

DOUBLE BOOM – DD3
Ø x L x W: 40 x 500 x 300 mm

DOUBLE BOOMS
- All measurements in mm

DOUBLE BOOM – DD4
Ø x L x W: 40 x 500 x 400 mm

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006963 Dobbeltdorn ø40x500xC300 1 2
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 13.87 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD3

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC300 komplet

30006962
30006962

 

 

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006963 Dobbeltdorn ø40x500xC300 1 2
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 13.87 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD3

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC300 komplet

30006962
30006962

 

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006963 Dobbeltdorn ø40x500xC300 1 2
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 13.87 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD3

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC300 komplet

30006962
30006962

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006995 Dobbeltdorn ø40x500xC400 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 14.56 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD4

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC400 komplet

30006994
30006994

 

 

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006995 Dobbeltdorn ø40x500xC400 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 14.56 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD4

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC400 komplet

30006994
30006994

Max payload 200kg.

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006995 Dobbeltdorn ø40x500xC400 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 2 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 14.56 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DD4

DRAWN BY: LL    DATE: 13.11.08

INOX 200

1:5

REVISION Dobbeltdorn ø40x500xC400 komplet

30006994
30006994

500

300

Ø 350

Ø
 4

0

Ø 450

500

400

Ø 450

Ø 800

Ø
 4

0



 INOX 200 / TOOLS

FORK - G3
L x W: 570 x 400 mm
For 600 x 400 mm boxes

FORKS
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30007069 Gaffel 570x400 INOX 200 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 10.06 Kg

EP

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.12.19

Impact

1:10

REVISION G3

40010212
40010212

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30007069 Gaffel 570x400 INOX 200 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 10.06 Kg

EP

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.12.19

Impact

1:10

REVISION G3

40010212
40010212

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30007069 Gaffel 570x400 INOX 200 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 10.06 Kg

EP

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.12.19

Impact

1:10

REVISION PF1

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30007069 Gaffel 570x400 INOX 200 1 1
2 81060015 Popnitte 6,4x14,2 RF lukket 4 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 10.06 Kg

EP

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.12.19

Impact

1:10

REVISION PF1

570

38
0

40
0



 INOX 200 / TOOLS

CRANE ARM - KA3
L: 600

CRANE ARM - KA4
L: 800

CRANE ARMS
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 30006944 Kranarm 600mm Impact 200 svejst 1 1

2 30006947 Løbekat m svirvel+krog Impact 200 1 1

3 81010364 Skrue 6x10 CH A2 DIN 912 1

4 81060015 Popnitte 6,4x14,2 RF lukket 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 6.41 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Max 300kg.

DRAWN BY: LL    DATE: 13.10.18

Impact

1:10

REVISION Kranarm 600mm Impact 200 komplet

30006943
30006943

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 30006944 Kranarm 600mm Impact 200 svejst 1 1

2 30006947 Løbekat m svirvel+krog Impact 200 1 1

3 81010364 Skrue 6x10 CH A2 DIN 912 1

4 81060015 Popnitte 6,4x14,2 RF lukket 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 6.41 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Max 300kg.

DRAWN BY: LL    DATE: 13.10.18

Impact

1:10

REVISION Kranarm 600mm Impact 200 komplet

30006943
30006943

800 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 30006946 Kranarm 800mm Impact 200 svejst 1 1

2 30006947 Løbekat m svirvel+krog Impact 200 1 1

3 81010364 Skrue 6x10 CH A2 DIN 912 1

4 81060015 Popnitte 6,4x14,2 RF lukket 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 7.46 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Max 300kg.

DRAWN BY: LL    DATE: 13.10.18

Impact

1:10

REVISION Kranarm 800mm Impact 200 komplet

30006945
30006945

800 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 30006946 Kranarm 800mm Impact 200 svejst 1 1

2 30006947 Løbekat m svirvel+krog Impact 200 1 1

3 81010364 Skrue 6x10 CH A2 DIN 912 1

4 81060015 Popnitte 6,4x14,2 RF lukket 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 7.46 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Max 300kg.

DRAWN BY: LL    DATE: 13.10.18

Impact

1:10

REVISION Kranarm 800mm Impact 200 komplet

30006945
30006945

600

800



REEL MANIPULATOR - MRP2

REEL MANIPULATOR
- All measurements in mm

70-76

 2
40

 

 596 

 765 

 4
62

 

 440 

 9
5 

 680 

 INOX 200 / TOOLS



 INOX 200 / TOOLS

MANDRIL ENLARGER - CL1 
For: Ø152 mm/6”

MANDRIL ENLARGER - CL2
For: Ø254 mm/10”

MANDRIL ENLARGERS 
- All measurements in mm

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 40003660 Dorn forstørre svejst MRP VER 

152mm 1 2
2 598010 Positionsbolt M12x1,5 Rustfri 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 0.75 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.07.02

Rulle Manipulator

1:2

REVISION Dornforstørrer 152mm VER/MPR

40003714
40003714

 R123 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30006772 Dornforstørrer 250mm 

vulkaniseret 1 1
2 598010 Positionsbolt M12x1,5 Rustfri 1 1

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 2.30 Kg

EL Poleret

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 13.07.05

Manipulator

1:5

REVISION Dornforstørrer 250mm komplet

30006771
30006771

150-154

253-255



INOX 200 / ELECTRIC TOOLS

REEL MANIPULATOR
- All measurements in mm

REEL MANIPULATOR - VER
Reel manipulator – Full Electric Reel Manipulator

Max Payload 140kg. (Reel width 500mm.)

2
3
4
5
6
7
8
9

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 20.01 Kg

Rustfri
A3

SHEET 1 OF 2

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Core ø68-83

DRAWN BY: LSN    DATE: 12.06.04

Manipulator

1:10

REVISION Komplet rullemanipulator elektrisk

40002596
40002596

Max Payload 140kg. (Reel width 500mm.)

2
3
4
5
6
7
8
9

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 20.01 Kg

Rustfri
A3

SHEET 1 OF 2

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Core ø68-83

DRAWN BY: LSN    DATE: 12.06.04

Manipulator

1:10

REVISION Komplet rullemanipulator elektrisk

40002596
40002596

Max Payload 140kg. (Reel width 500mm.)

2
3
4
5
6
7
8
9

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 20.01 Kg

Rustfri
A3

SHEET 1 OF 2

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Core ø68-83

DRAWN BY: LSN    DATE: 12.06.04

Manipulator

1:10

REVISION Komplet rullemanipulator elektrisk

40002596
40002596

914

69
5

24
0

678

79
8

635

70-76



LINEAR GRIPPING
- All measurements in mm

LINEAR CLAMP – EG6
Linear gripping with sidewards turning function

2
3
4
5
6
7
8
9

ITEM NO.PART NUMBERDESCRIPTIONQTY.Revision

16210100537Drejeenhed m. 1 udg. forstærk.11

230000908Lineær klemme komplet 2x150mm.12

330003160Arm for Liniærklemme21

481010000Bolt M10x80 A24

581020050Låsemøtrik M10 A2 DIN 9854

30007081
30007081

Opstart EG6 REVISION

1:10

Impact

DRAWN BY: LL    DATE: 13.12.04

EG6 40010220

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH:DEBUR AND 
BREAK SHARP 
EDGES

NAMELOCATIONDATE

MATERIAL:

DO NOT SCALE DRAWINGVersion: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

Gratfri

WEIGHT: 71.51 Kg

A

B

C

D

E

F

G

H

12345678

A

B

C

D

E

F

G

12345

LINEAR CLAMP – EG8
Linear gripping with forward turning function

 136  266 

2
3
4
5
6
7
8
9

ITEM NO.PART NUMBERDESCRIPTIONQTY.Revision

130000908Lineær klemme komplet 2x150mm.12

230006750Arm klem/tip C 550 H11

330006752Arm klem/tip C 550 V11

481190036Oliebronzeleje 30x38x3041

581190093Trykleje ø30/ø47x11 Rustfri21

640001057Plastring for 8119009321

720000329Motordel tippefunktion11

840001046Akselstop moterside11

940001045Akselstop12

1081150016fjedrende trykstykke kugle ø811

1130006748Tip flex gearside 60x60 rør11

1230006749Tip flex løs side 60x60 rør11

1381020050Låsemøtrik M10 A2 DIN 9854
1481010000Bolt M10x80 A24
1581010276Skrue 8x16 RH A2 ISO 73801
1681010277Skrue 8x20 RH ISO 73801

30007080
30007080

Opstart EG8 REVISION

1:10

Impact

DRAWN BY: LL    DATE: 13.12.04

EG8 40010221

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH:DEBUR AND 
BREAK SHARP 
EDGES

NAMELOCATIONDATE

MATERIAL:

DO NOT SCALE DRAWINGVersion: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

Gratfri

WEIGHT: 51.08 Kg

A

B

C

D

E

F

G

H

12345678

A

B

C

D

E

F

G

12345

INOX 200 / ELECTRIC TOOLS

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 40000773 Trykrullebeslag 60 Flexarme 1
2 81170107 Trykrulle 98mm. 2
3 81030087 Skærmskive ø8x24 A2 DIN 9021 2
4 81010274 Skrue 8x10 RH A2 ISO 7380 2

C

2 31 4

B

A

D

E

F

1

Trykrullebeslag

30000900

H.C. Hovmand A/S

08.09.11LL

0

*

Rustfri mm.
A4

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

Version:DO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Tegner

60 komplet.
08.09.11

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 40000773 Trykrullebeslag 60 Flexarme 1
2 81170107 Trykrulle 98mm. 2
3 81030087 Skærmskive ø8x24 A2 DIN 9021 2
4 81010274 Skrue 8x10 RH A2 ISO 7380 2

C

2 31 4

B

A

D

E

F

1

Trykrullebeslag

30000900

H.C. Hovmand A/S

08.09.11LL

0

*

Rustfri mm.
A4

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

Version:DO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Tegner

60 komplet.
08.09.11

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30004391 Trykrullebeslag 40 svejst 1 1
2 30002902 Flexibel griber svejst 1 1
3 30002905 Trykrulle 148mm 4 1
4 81010373 Bolt M10x75 A2 1
5 81020050 Låsemøtrik M10 A2 DIN 985 1
6 81010275 Skrue 8x12 RH A2 ISO 7380 4
7 81030087 Skærmskive ø8x24 A2 DIN 9021 4

E

F

Version:   1

Trykrullebeslag 40 Type B

30004390
30004390

DRAWN BY: LL    DATE: 10.10.21WEIGHT: 3.41 Kg

Glasblæst

Rustfri 
A4

SHEET 1 OF 1

1:5

DWG NO.

TITLE:

DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Quickclamp

REVISION

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30004391 Trykrullebeslag 40 svejst 1 1
2 30002902 Flexibel griber svejst 1 1
3 30002905 Trykrulle 148mm 4 1
4 81010373 Bolt M10x75 A2 1
5 81020050 Låsemøtrik M10 A2 DIN 985 1
6 81010275 Skrue 8x12 RH A2 ISO 7380 4
7 81030087 Skærmskive ø8x24 A2 DIN 9021 4

E

F

Version:   1

Trykrullebeslag 40 Type B

30004390
30004390

DRAWN BY: LL    DATE: 10.10.21WEIGHT: 3.41 Kg

Glasblæst

Rustfri 
A4

SHEET 1 OF 1

1:5

DWG NO.

TITLE:

DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Quickclamp

REVISION

 2
60

 

 R285 
 147 

 60 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40000773 Trykrullebeslag 60 Flexarme 1 2

2 40002802 Gribeplade vulkaniseret R285 1 2

3 40001158 Split for værktøj 1 1

4 81150051 Locking-Pin 1 A-001

5 81030065 Rip-Lock ø8 A2 2

6 81020049 Låsemøtrik M8 A2 DIN 985 2

7 81010434 Pinolskrue M8x30 A2 DIN 914 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 3.38 Kg

SS
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 14.05.21

Impact

1:5

REVISION Gripper C-60-R285 komplet

30007284
30007284

 2
60

 

 R285 
 147 

 60 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40000773 Trykrullebeslag 60 Flexarme 1 2

2 40002802 Gribeplade vulkaniseret R285 1 2

3 40001158 Split for værktøj 1 1

4 81150051 Locking-Pin 1 A-001

5 81030065 Rip-Lock ø8 A2 2

6 81020049 Låsemøtrik M8 A2 DIN 985 2

7 81010434 Pinolskrue M8x30 A2 DIN 914 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 3.38 Kg

SS
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 14.05.21

Impact

1:5

REVISION Gripper C-60-R285 komplet

30007284
30007284

R295

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30003275 Griber R:300 svejst 1 1
2 30003278 5mm Remaline 35 1 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 5.76 Kg

Glasblæst

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 2DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 10.03.23

Halvskåle

1:5

REVISION Griber R:295 komplet

30003274
30003274

R295

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30003275 Griber R:300 svejst 1 1
2 30003278 5mm Remaline 35 1 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 5.76 Kg

Glasblæst

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 2DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 10.03.23

Halvskåle

1:5

REVISION Griber R:295 komplet

30003274
30003274

Gripper A

Gripper A

Gripper B

Gripper B

Gripper C

Gripper C

Gripper D

Gripper D



QUICK CLAMP
- All measurements in mm

QUICK CLAMP – QC6
With turning function

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/Q
TY. Revision

1 6210100534 Drejeenhed m. 1 udgang 1 2

2 20000268 QuickClamp m.Flexarme type 1 1 1

3 81010230 Skrue 6x50 CH A2 DIN 912 4

40010219
40010219

QC6REVISION

1:10

Impact

DRAWN BY: LL    DATE: 13.12.13

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

NAME LOCATION DATE

MATERIAL:

DO NOT SCALE DRAWING Version: 1

TITLE:

DWG NO.

SHEET 1 OF 1

A2
Rustfri

Gratfri

WEIGHT: 39.22 Kg

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 40000773 Trykrullebeslag 60 Flexarme 1
2 81170107 Trykrulle 98mm. 2
3 81030087 Skærmskive ø8x24 A2 DIN 9021 2
4 81010274 Skrue 8x10 RH A2 ISO 7380 2

C

2 31 4

B

A

D

E

F

1

Trykrullebeslag

30000900

H.C. Hovmand A/S

08.09.11LL

0

*

Rustfri mm.
A4

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

Version:DO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Tegner

60 komplet.
08.09.11

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30004391 Trykrullebeslag 40 svejst 1 1
2 30002902 Flexibel griber svejst 1 1
3 30002905 Trykrulle 148mm 4 1
4 81010373 Bolt M10x75 A2 1
5 81020050 Låsemøtrik M10 A2 DIN 985 1
6 81010275 Skrue 8x12 RH A2 ISO 7380 4
7 81030087 Skærmskive ø8x24 A2 DIN 9021 4

E

F

Version:   1

Trykrullebeslag 40 Type B

30004390
30004390

DRAWN BY: LL    DATE: 10.10.21WEIGHT: 3.41 Kg

Glasblæst

Rustfri 
A4

SHEET 1 OF 1

1:5

DWG NO.

TITLE:

DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Quickclamp

REVISION

 2
60

 

 R285 
 147 

 60 

2
3
4
5
6
7
8
9

ITEM NO. PART NUMBER DESCRIPTION Default/QTY. Revision

1 40000773 Trykrullebeslag 60 Flexarme 1 2

2 40002802 Gribeplade vulkaniseret R285 1 2

3 40001158 Split for værktøj 1 1

4 81150051 Locking-Pin 1 A-001

5 81030065 Rip-Lock ø8 A2 2

6 81020049 Låsemøtrik M8 A2 DIN 985 2

7 81010434 Pinolskrue M8x30 A2 DIN 914 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 3.38 Kg

SS
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 1DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 14.05.21

Impact

1:5

REVISION Gripper C-60-R285 komplet

30007284
30007284

R295

ITEM NO. PART NUMBER DESCRIPTION QTY. Revision
1 30003275 Griber R:300 svejst 1 1
2 30003278 5mm Remaline 35 1 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT: 5.76 Kg

Glasblæst

Rustfri
A3

SHEET 1 OF 1

DWG NO.

TITLE:

Version: 2DO NOT SCALE DRAWING

MATERIAL:

DATELOCATIONNAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

DRAWN BY: LL    DATE: 10.03.23

Halvskåle

1:5

REVISION Griber R:295 komplet

30003274
30003274

Gripper A Gripper B Gripper C Gripper D

INOX 200 / ELECTRIC TOOLS


	Overview
	Standard setup
	Inox 200 – Leg 2
	Inox 200 – Leg 3
	Inox 200 – Leg 4
	Inox 200 – Leg 5
	Inox 200 – Leg 6
	Inox 200 L3/M3/H3 - Standard setup
	Inox 200 L3/M3/H3 – Leg 1
	Inox 200 L3/M3/H3 – Leg 2
	Inox 200 L3/M3/H3 – Leg 3
	Inox 200 L3/M3/H3 – Leg 4
	Inox 200 L3/M3/H3 – Leg 5
	Inox 200 L3/M3/H3 – Leg 6
	Platforms Stainless
	Booms
	Double Booms
	Fork
	Crane arms
	Reel Manipulator
	Mandril Enlargers
	Electric Tools
	Reel Manipulator - VER
	Quick Clamp
	Linear Gripping




